pipe 12

Water flows from a container as shown in the figure. Determine the loss coefficient needed in the valve if
the water is to “bubble up” a distance /4 above the outlet pipe.

Hi=451in
Li=181in
L>»=321in
H>=21in
h=3in

::| rounded entrance

The pipe is %2 in diameter
galvanized iron pipe with threaded
fittings.
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Water flows from a container as shown in the figure. Determine the loss coefficient
needed in the valve if the water is to “bubble up” a distance 4 above the outlet pipe.

Y Y
H 1= 45 in
L;=18in
© L;=32in
H2 =2in
h=3in
H, :
I rounded entrance The pipe is % in diameter
: galvanized iron pipe with threaded
L : fittings.
L, >
Sot—u'(«w :

A‘)‘,\ A/Le E')L;—b‘é{cé geﬂlou“.‘ E)n -wa @ .5@ .

Aaw, (R ) D
Ul AR R DR

where ¥ ,’3 Sﬁ"*" . Ascume Llou is ‘)‘W\’U‘ﬂﬁ;

V \13 =0 , = L= 1
23’ 2; - x‘
B2
st
AR R g 32.2% -
-» = 3 2 \, - 40‘Ly
\Jz ],\ . 3\“\ R X-f-ﬂ' % z S

. A?F\\ H«c. Ex)pz«jei Bcfnov))} %4 -Cp,-. @ ..,@:

/-—s”» +-<-—”* ve>3 : (/;% w('%: f?;) - ”L,,;* HSHS
Heehyh o

zot oz, s i 14z



V.2 — 2 — 2
e Vi ; v
< *K_ _ﬁ I ZKAQ'W \/b +KA\“ { ‘

Zj e 2’3 2,3 z 3

w\\uz —V“L,,m, "V\m‘(c z Vkutc( : vﬁivt = Vf-

K(ﬂ‘)‘rﬁﬂtl = 0 ¢ O{ UOT('. K& .; SM(—G w‘.‘(r

Cried = 1S 4'%\«“1”-1 ke il

Kiseons 2 D> _g:(L t byt He >

vhee (g 0w (ﬁfw Moody chat)

T T, Gofosi )
‘ Lzw oS £4 X%
» Reg = 13,300 (%rkv\e«-) fla) >
—_ %l «ss«»«P).'pn el

and é/b . 00005 £} A\wenized iron pipe
= (o.y;,‘)(é%;) - ooz

. Chstdute ol ;.‘MFL'& :
Py +h- Y, = »,z%f [Mm L 2Ky - L(wn;nu) ) qu\ue]

s S\ue -Cpr Walve
")‘ K“\v‘ 4 S,q 5

242



